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i.

{(a) Discuss the factors influencing the accounting

environment in a country. (8)

(b) Explain the role of accounting in economic

development of a country. (7)

OR

Compare normative deductive and inductive

| approaches to theory formulation. Which approach is

more useful in theory construction ?. {15)
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Discuss the different approaches in capital maintenance

concept of income measurement.

OR

What is ownership equity ? Explain different theories

of equity. (15)
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“Depreciation is a systematic allocation of cost or
other value over the service life of .an asset in
systematic and rational pattern.” Explain.

Discuss the factors which should be the basis for

-selecting a method of providing deprematlon on any

specific asset or group of assets.
OR
Write notes on :

(a) General purpose reporting Vs. specific purpose
reporting.

{(b) Qualitative characteristics of financial statements.

(15)
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Explain the computation procedures and adjustments

necessary under current cost accounting.

OR

Discuss the provisions of AS-17- on Segment
Reporting. _ (15}
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Critically evaluate AS 25 and SEBI’s guidelines on
Interim Reporting.

OR

Following are the balance shéets of a company as on
31st March 2010 and 2011. - '
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" (Rs)
3132011 31.3.2010

Liabilities : |
Share capital l '4,00,000 3,00,000
General reserve 1,00,000 80,000
_ Profit & Loss A/C 50,000 30,000
. Debentures | 1,00,000  1,50,000
Provision for taxation 40,000 - 50,000
Proposed dividend 40,000 30,000
Trade creditors 70,000 90,000
| 8,00,000  7,30,000
Assets :
Goodwill . 90,000  1,00,000
Plant & Machinery 4,29.250 2,98.000
lnvestments 60,000  1,00,000
Debtors ©1,10,000  1,60,000 -
Stock . 80,000 50,000
Prepaid expenseé : 5,750 4,000
Cash‘ & bank balance | - 20,000 I0,000
Discount on debentures- 5,000 8,000

$,00,000 7,30,000

P.T.O.
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Additional information :

(i) Depreciation on plant & machinery has been
charged @ 15%.

(i) A machine costing Rs. 10,000 {W.D.V.
Rs. 3,000) has been discarded. An old machine
costing Rs. 50,000 (W.D.V. Rs. 20,600) has
been sold for Rs. 35,000.

(ii1) A profit of Rs. 10,000 has been earned by sale

of investments.

(iv-) Debentures have been redeemed at 5%

premium.

" (v) Rs. 45,000 income tax has been paid and

adjusted against provision for taxation.

Prepare statement of changes in financial position on

cash basis as per AS3 (revised). (15)
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, ®)
3132011 3132000
Y ‘ '
LRI | | _ 4,00,000  3,00,000
e AR 1,00000 80,000
SRR 50000 30,000
o= © . 1,00,000 © 1,50,000
© e R e © 40,000 - 50,000
W A - 40,000 30,000
R TR ' 70,000 90,000
| 8,00,000 ©  7,30,000
™ 90,000 - 1,00,600
waF R AT | 4,29.250  2;98,000
am ' i 60,000  1,00,000
TR 1,10,000  1,60,000
wte - 80,000 50,000
o wed =@ o 5,750 - 4,000
Ie ok qw W 20000 10,000
=W @ | T , 5,000 8,000

© 8,00,000  7,30,000

. P.T.O.



2060 ' 8

(i) ¥4 R TR W 15% W@ R IeaEw wRka B
Lo ‘

(i) ¥ 10,000 i wrra N v A (w1 1= T 3000)
ﬁﬁmﬁ_ﬂrmﬂ%l % 50,000 & TN S TH YA
T (=i T 20,000) T 35,000 F & R
A

(iii) e < R /T 10,000 o Wt g3 2
(iv) Foedl =1 5% F MEm w A B w2

(v) T 45,000/ FEF T R X R w2 gk
FUF B WauE ¥ e e R o 2

AS3 (¥9fiN) ® IPER Awe Imm W RAdw fafy ¥
TRad w1 Ao dow SR |

(900)** * %




